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MBS o & o ol o HimE==0
ES Al 3,775,212 3,729,725 45,487
S0 3,775,212 3,729,725 45,487
50 X2 3,775,212 3,729,725 45,487
510 = 0BX=2S 2,610,796 2,617,183 26,387
5 =208BX3S 2,610,796 2,617,183 6,387
511-01 =21EXZ 1,745,826 1,643,103 102,723
OIS HgF=A L DS A 433 147,731,000 147,731 146,122 1,609
O S24dietd 2 2y 2 EY|
d& 19,350,000 19,350 15,300 4,050
O&xe 243 Z& 170,264,000& 170,264 90,000 80,264
OgmlAzl HYES A=l 14,000 0 14,000
OAl & 23 A K& 4% 6,168,000 6,168 3,368 2,800
511-08 JI12 864,970 974,080 A109,110
Ostuera=aXI3 d& 54,960,000 54,960 70,200 A15,240
OFLHCT 258 A 4% 62,100,000 62,100 124,200 262,100
OLHEXIAY XIJAA 43 1,020,000& 1,020 750 270
OHIEE LAANE SHAIE 21,000 0 21,000
OMAHETIZ KIJAMAOISHEEY LM=IT)
23 & 0 10,000 A10,000
OASOEIZ XNAANLOtsHEY LMSIL
38 03 0 10,000 210,000
OElylat | X3 Jd& 50,000,000 50,000 50,040 40
OZMNZHAE AFL2IRIMZ XA
23 100,000,000 100,000 130,000 A30,000
OArg&g SXU K& 338 24,500,000& 24,500 15,000 9,500
OZXAE MR ZA(AFZ2IXl)
Z& 240,000,000 240,000 280,000 40,000
OZX A M2 =4 (SXHU) d& 25,200,000 25,200 24,500 700
OZXAl2 M2 =4 (&l - Hd])
& 84,000,000 84,000 99,000 A 15,000
ogeol=et 84X XA Jd& 23,100,000 23,100 6,300 16,800
OZ=A=E A EHIXA 25,000 0 25,000
520 Al - SHIBXZS 1,164,416 1,112,542 51,874
521 Al - SHIEZE2S 1,164,416 1,112,542 51,874
521-01 Al - SHIEX32S 1,164,416 1,112,542 51,874
OCAl S JIENEZEY SAUMU(H42H) 30,000 0 30,000
OaxE BA43 33 21,283,000 21,283 11,250 10,033
OgmAazl HYES A=l 4,200 0 4,200
OAl & 2 ZAHHl XI& Z33 1,850,000& 1,850 1,010 840
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O8NS AXA 233 10,990,000 10,990 14,040 3,050
OF4HCT 828 Al A3 12,420,000 12,420 24,840 A12,420
OLHEIXIEY| KRAA A3 306,000 306 225 81
OHISE YAAE SHAY 6,300 0 6,300
Ogloy|atzy| X AF 25,000,0002 25,000 25,020 A0
OXASMAE AFLR2IXIHE X2
A3 60,000,0002 60,000 78,000 18,000
OA2XE2 ZXU X A 9,700,0002 9,700 6,000 3,700
OXAIR 2L M (AL2IXI)
AF 57,600,0002 57,600 67,200 29,600
OZXAI2 M2HX =S (SXHH) AX 6,048,0002 6,048 5,880 168
OXAE M2EX Z&(& - HH|)
A 25,200,000 25,200 29,700 24,500
Oogeioimet 83 X 23X 6,930,0002 6,930 1,890 5,040
OXAlZ BEX HHIXIS 22,500 0 22,500
OgesIt sUHSH 22 23 540,000 540 600 AB0
OB1Y LA ATy 3a¥ 02 0 2,400 A2,400
OJI= JI12Hs HSAlE X 23 8,100,000 8,100 9,000 A900
OSgA B ASIAIY 33 0 0 1,350 A1,350
OU8 |l 07 Z3 X 23 3,000,000 3,000 3,360 360
OEZZ20 arast 112 23X 3,600,0002 3,600 4,000 400
OEZS0F X0 &= X 23 0 0 2,000 22,000
OYLAI0{HOl SAIOHE QU FAIXH| BZ
A3 1,122,0002 1,122 1,120 2
O-&04& WA FHl X 23 2,880,000 2,880 3,200 A320
ONAIE 822 IHA 23 0 0 7,500 AT,500
OllEeL =gsg s4 X2 30,000 0 30,000
OZEMH A MAY OlLA 1,890 0 1,890




